Fadanie 4 3P = SF 6 5P I IIG Il &5
1 TTTN MMTM MTHM TTTT THMM THMMN
& TNMT THMM THMM THTT MTTM TTHM
3 MMTMN MMTM MNTT TTHM TTHM MMTMN
4 FITRIMN MWNTT MTHM FITRIM MTTT MTHT
] MTHT TTTT TNTT MTHT MMTT TTHM
] MNTT MTMM TTHM TTHM THMT MTTH
7 TTTN MNTMT TTHM TTHT TTHM TTTT
g MTHMN THMM MTTT MTTH MTMM TNMT
i MNTTT THTM MMNTM TNMT TNTT MTHT
10 TTTT THTM TTHMN FIMTHM MTHT FIMTHM
11 FIMMT TTTT MIMT FIMMT MTTM THTHM
12 THMT MTTT MMNTH TMTT MMNTT MTMT
13 TNTH MTMM TTTH TTTT THMT TTHT
14 MTHT TNTT THTM THTT TTHT MMTMN
15 MMNTMN THMT THMT THMMN THNTM MTTT
16 TTTT MNTMM FTTT FMTT MNTMM THTH
17 FTRIMN TTTH TNTT MTTT TTTH FITRIM
15 TTTN MMTM MTHM TTTT MTMT TTTH
19 MMMT MTTT TN MTMT TTHM TTTT

20 TTTT TTHT MTTM TNTH MTTM MMNMT
21 MNTTT THMM MMNMT TTHT THNTM TTHM
22 FIMTH MMWMT TTTN TTTH THMM TTHM
23 THMM TTTH MTTMN FMTT MTTT THTHM
24 - MTHMM TTTT TTTT THMM MMMT
£5 : - MMNTH TTHT MTMT MTHMN
26 - - - MTHMN THMT MNTT
27 = = - . THMM MTTH
28 - - - - - FITRIMN



